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Time : Three hours Maximum : 100 marks
SECTION A — (40 x 1 = 40 marks)
Answer ALL questions.

1.  Which of the soil occurs in equatorial regions?
(a) Block soil (b) Alluvial (¢) Chernozem (d) Laterite
GTH LOGWT cuansWITeng) LsSw Creang LGHule sremliLihEng?

(1) sflge wer (<) euairLed (@) GeTCearmad (/F) CalLenrl

2. What are the horizontal soil layers of soils called?
(a) soil beds (b) soil horizons (c) soil layers (d) bedding planes
SlenL_ bl L oair | (h&sTeng) @eleumnms ienpdsliL(Hidlng)?
(=) wearr UBms (<)) SHlevLwl L e (@) wear SHEGEHET
() u(ens FGeTLd

3. Evergreen forests indicate a climate with

(a) Copious rainfall (b) High temperature (c) Moderate rainfall
(d) Year-round adequate rainfall

L&ELDIDT STHSET GN&@GD sreblaewrerg)
(=) <dlsorear b (<) 2wir deuliublene (&) Wsbrear e
(FF) @U(BLLD (Lp(Lpeugd CLIMGILDTET EnLp

4.  Most of the softwood trees grow in the

(a) Tropical rain forest (b) Temperate forests (¢) Savannas
(d) Areas of High rain fall

QOETOIBIGET HHEHOTE CUeTTEF)
(1) <Slwer b wep sThEET () WsbeuliL el &T{Hs6r
(@) geumanm LebGeuaflser (i) ifls weanp QUMD LGS ser

5.  The variety of plants from equator to polar region.
(a) increases (b) decreases (¢) remain the same (d) constant
sTeur  @ammsetreng LSS Crensuledmngl  gimeud Crrsd
QagbCumg)

(o) oflsflégd () eopud (§) <ugGu Qmsed
(FF) Blepauwimang



10.

11.

The term deciduous implies

(a) Trees shedding leaves during summer (b) Trees shedding
leaves during rainy season (¢) Trees shedding leaves during
winter season (d) Trees shedding leaves during dry season

@enewdi ererm LSLTETG GOILILI

(=) CamenL_udled Gumg LIBIGET  @aosmer 2 Slig)
(<)) werpssTsHear Cug LIB&GE Qamosmer 2 dirug (&) @efli
sTesSlenCUTgl WIRisGET @aasamer 2 lLg (FF) eumeTL Li(heaussle
LOIBIGET @ enevsaner 2 SlTLig)

The nature of vegetation in the world changes according to

(a) latitudes (b) nature of soil (c) longitude (d) climate

o dlen @Quhens STeurmIGeten LG & QummIgg
wrmUTHE DS

(@) 2 sCranssEns@ agnu (<) wewTanilen  SeTENOEE@  GTHLI
(@) SresCrenas@ U (FF) sTeblenad@ rmu

The Grassland of Australia is called

(a) Pampas (b) Steppe (c) Prairies (d) Down

< evdCraflwmeen LeGlaaf Hlavbd ojanpdsliLi(heg

(1) umbuev (<) LG (@) WAgwM (/F) Lejer
The Grass land of North America is called

(a) Praries (b) Veld (c) Pampas (d) Steppe

L Gwfssreiler Lie6euafl Hloob enpssiivi(heugl

(=1) QT (<) Ceued® (@) umbuev (FF) evL Ll
Equatorial forest of Amazon basin is known as

(a) Campos (b) Pampas (c) Selvas (d) Lanos
2Cgran cuigHleogdlayerer LngHu Crens sr@Hser <dluliLibheog)
(<=1) Cabumen (<) umbueL () Cadeurev () eorGenmen

Of the following ——————— 1is the ideal conditions for fish
growth.
(a) warm open ocean (b) continental  shelves

(c) cool deep ocean (d) saline region

L9\ G160 (I 6L 6UTEL () M) 6IT Ber  euetmeugnHE 2 &HS
GLpHlepauim@Lb?
(=1) dmps Qeuefl Geulin L LGS (<) Wsbeli T SHeEr_&
sfleyser (Q) Gollhs YpasL6 LGdser (FF) 2 Liere| BIGHS UGS

2 U/ID 31602/UCHB



12.

13.

14.

15.

16.

17.

18.

19.

Pisiculture refers to the rearing of

(a) silkworm (b) insects (¢) fish (d) poultry

N &EEOST T 6TenS eUETTLILINS @GDISS D).

(<=1) ul® &S auermiiy (=) yélser (@) e (i) Caml euarriiL
Blue revolution related to

(a) Crop farming (b) Fishing (c) Industrial Production (d) Mining

Beo 4yl & eremigy 2 L6 QSmLLjenL_uwig)?

(@) wldi ewermiy (<) et G4ds0 (§) Camfperame 2 HusH
(FF) &rmisLd

The leading country of fishing in the world is

(a) Brazil (b) India (c¢) Australia (d) Peru

2 adlan ey s0gmiele (pembleancoudieh 2 erer B

(<=1) GCréle (<) @pHwim (G) avHCrelluim (rr) Clum
The leading producer of bauxite is

(a) Canada (b) Australia (c) USA (d) India

ursengl_ 2 Husdlude (peraiane eudlliLig)

(<=1) s (<) evdCrellwim (§) wj.erev.er () @pHum
The best type of iron ore is

(a) Magnetic (b) Hematite (c) Siderite (d) Monozite
Spps SroTeT QL S5 2GID-

(<=1) Cusemar (<) CanwearL (@) ALayl (i) CorCearmana

Aluminum ore is known as

(a) Lignite (b) Anthracite (c) Bauxite (d) Pyrite
siidlaflug srg erariLihoug)

(<=1) dsenan (=) WbIreans (@) ursang (FF) enLienyL
The best quality coal is

(a) Peat (b) Bituminous (c) Lignite (d) Anthracite

Smbs Srb UMb Hless S @&LD.
(<=1) UL (=) A @ilean (@) Sldemen (i) < bdlyene
Zaire is the leading producer of
(a) Coal (b) Oil (¢) Diamond (d) Lead
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20.

21.

22.

23.

24.

I eTgen 2 HLSHudled (peaiieana cudlaES g

(<) Blovssfl (=) eramClenil (&) eeurld (FF) FruiD
“White Coal” is

(a) Uranium (b) Platinum (c) Ice (d) Hydroelectricity

QeueTener Hlawds erarLig) @& LD.
(<) yCraflwibd (<) Gemmligand (@) uaissiiy (FF) Brler g6

Country, which has developed a very high proportion of
hydropower potential is .

(a) India (b) Switzerland (c) Australia (d) U.K.

B e g&d 2 pusHssrear s ufsworer srgswrear sryanilsamer
Qarerg (HEGD BT S GLD.

(=) @BHwr (=) sellstonmbg (@) evSHCredllum (/F) u).Cs.

What is meant by crop rotation?

(a) Growing of crop more than one crop simultaneously
(b) Growing a number of crops one after the other (c) Growing
the same crop year after year (d) Keeping the land fallow for a
long time

LUl SLMHE (LPEpm GTETMTE GT6MTEnT?

(=) @Cr Crrsdle gammse Copul L uwlisamer alenerellliLig)
(=) SADSSHSFH 21ds eramanildansulloorer Lulisamer allenerellliLig
(@) ea@earm aumpd @Cr wrdflwrer Lulflaear alenerallliLig)
(FF) Blogamer Barr srasHne sflans emeusd mLiLg)

The most effective farming method for returning minerals to the
soil is

(a) contour ploughing (b) terracing (c) crop rotation
(d) furrowing

eTanile) 2 GTeT FTHEHHMET H558 MUSFHGCSTETET 2 Fa (D 2 &HHS

Cauermesmentn (LPenmUITeg)

(1) swewy 2 Pse® () UgsH wen () wulT spnél wpenn
(FF) cuifleuigeu 2 (LpLd (Lpenm

Which food crop is most widely cultivated in the world?
(a) Rice (b) Maize (c) Bajra (d) Wheat
2 @l ureuers LML LiL{HID 2 awrey LIudT eTg)?
(1) 2N (=) wesTECamed (@) sy () Cargieno
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26.

217.

28.

29.

30.

31.

Which country is known as the sugar bowl of the world?
(a) India (b) USSR (c) USA (d) Cuba

2 adlein FTEEMT HlaTenTid cTenn enP&ESLILIHILD B[ eTgl?
(<=1) @bEw (<) u.ereiv.arav. 24 (@) u.erev.qr. (F) Suyum
Which country leads in the ship building industry?

(a) USA (b) Japan (c¢) Sweden (d) China

a6 sL_(H sminsreanauie (peareafleana eudlé@Ln B 6rg)?
(1) wj.erehv.er (<) sglinment (&) eveSLen (i) &eorm
Manchester is well known for

(a) cotton textiles (b) ship building (¢) iron and steel (d) dairying

el evL i 9 BetmTes MuiiGSng

(1) L®SH st () sLLD SLED gard (G) by wHHID
GToo@ (FF) LIMGL LIGTOTEMEw0T

Panama canal passes through

(a) Eastern Europe (b) Western Europe (¢) Isthmus of Panama
(d) Great Lakes region

LIGITITLOI &TEGU T TENTg) aurilens Cadlng)

(<) dps@ gCrmiur (=) Cone aGrmiur (@) Gevginen Liermom
(/) Quiilw el LG

What is meant by the term International trade?

(a) Trade with in country (b) Trade among countries (c) All
types of trade (d) Trade without currency

sreuGge eumentlLLD eremm Gamed @MlliLg?

(=) pBrigng@er peoLCumibd euaisb (=),) BrhsErsE Qe Cw
Bl Gumid  euanflsn (@) varsg eumswutar  euamfled
(FF) uamTLSleva moed HenL_GlLmid eueanflesn

Which is the busiest canal in International trade traffic?
(a) Suez (b) Panama (c) Indira Gandhi Canal (d) Rhine
sreuGse aurentls CUMs@GaUrsSHler lsere] penL_GlLMmeIF

(1) @waev (<) uetmor (@) @bSH T srbHd sreurs (/) enpe
Dispersed settlements occurs mostly in

(a) Mountainous areas (b) Desert areas (¢c) Coastal areas
(d) Tundra region
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33.

34.

35.

36.

317.

Agdlu @lquilmLiLser 2ifs Sjerefled srantiiLi(heug)
(=) weoliugdsailed (<) urtmoaeals ugdsalle (@) s_bhsamnr
LEdlsailer (i) gnpdly L@dsafld

Towns are mainly classified on the basis of

(a) economic activity (b) size of population (c) size of the town
(d) age

BT BIGETTES) LY 3 &0t SilglinenLudled
aumslILBSsLILGEDG

(=) Qummermsny BLellgsmaser () &S Cgrans jeraled
(@) parsden el () aiwig)

Maximum human population belongs to ——— race.

(a) Australoid (b) Negroid (c) Mongoloid (d) Caucasian

91515 26T W&&ET CsTens Fmihd(HLILS) @arom@Lb.
(1) Sevigreor® (<) B&Crm () wrGsrellwum (/F) srssmi(

The basic distinction between urban and rural settlements is

(a) population size (b) population density (c) function (d) location

B&y  WwHML  Srrogn  Ggulldlygsear il wbled  Caumubheug)
T STITEUTLOM(GLD.

(=) w&ser  Ogrensulen jerelled () WEEHET L THHufled
(@) Qeweur@saiied (FF) Sanwaill_gdle
Dry point settlements are situated in

(a) Near lakes (b) Away from desert areas (c) Near flood plains
(d) Away from water bodies

QUPERTL (&g Ul (HLILSET SAeLbGIETeT LGS .
(=) gfeE simarawuie (<) urmeealarssalmng Cgrameaaie
(@) Qeugrard gwCeuaflsE @S (FF) B Blevwsealalmbs
Qgrenevelle

Which is believed to be the oldest occupation of man?

(a) Hunting (b) Mining (c) Gathering (d) Agriculture

wafseafer Lpaowirer Gsmdle erem BULILIHGIG 6Tg)?

(1) CauleLwrhssd (=) srmsstsmge (@) e are Cosfgsean
(rF) Geuermessrento

Which is believed to be an area of origin of agriculture?

(a) Asian steppes (b) North American low lands (¢) Southeast
Asia (d) Taiga forest
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39.

40.

41.

42.

43.

Ceuarmairento Gamemdlw LGS eren BOLILILIHGIG T8l ?
(@) gFwureer vl ugduier (<=)el CwlssTelen Hmp
Bleomsear (@) Qger &ps@ QHwm (r) L sr(Hs6r

The third largest concentration of population occurs in

(a) Eurasia (b) North America (c) South America (d) Australia
&ESET LiFeusdled epempmeug) Guflu L@gdwms srarrliuBhieg)

(=) wyCrdur (=),) e HAGwllgsr (@) Cger oCwMssT
(FF) < avd Credwim

The world’s busiest sea route is

(a) Suez Canal route (b) Panama Canal route (¢) North Atlantic
route (d) North Pacific route

2 avdlem LTUTLILITET L6 eUISSL_Lomeng)

(=) @we sTeeumil alflGSL D (<) LETTDT STeelmil alflssL b
(®) UL 5@ S rariqsd PSS D (F) UL &@E Usds auflssL LD
Which of the following is called as “Cradles of Civilization”?

(a) Grass lands (b) Foot hills (c) River plain (d) Plateau
Geeu(peuareudMled ‘Brafasdler QT iqds6r eream SampssliLHiog

(=) yolbeuaflger (=) wame geurgd (@) WHmdsnbeaf
(FF) L)
SECTION B — (5 x 4 = 20 marks)
Answer any FIVE questions.
All questions carry equal marks.

Briefly explain the scope and content of Economic Geography.
Qurmerrgry Yefudwellenr  eumiilil] erevened WHMID GlLMHETL_&&HLD
GMEF FMHESHOTE 6lleuilsasa, .

Enumerate the geographical conditions required for tea and
coffee cultivation.

Caullene wHMID &Teeld Ceuermaimenind @ edm  Ljedludiwe) @ELpane
Nar&d (hs.

What are the geographical conditions are required for the
development of ship building industries?

slud® sl (b Cgmfiberame eweusnsrear Leduiwe smremlser
wmeneu?
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45.

46.

47.

48.

49.

50.

51.

Give a brief account on nature and scope of population
geography.

&&6T Lelludweller sementn HMID SiHer LT[ &GOS sHHEE0Ts
(SIS

Examine the factors that affect the growth of population.

&&ET Cgreans cuerTESullener LTHEGD sTranilsamer < TTils.

List the pull and push factors of migration.
@LuQuurelpaTer @) p LHMILD FeTEHLD STranfleamer Liiquiad (hs.
Elucidate the structure of the rural landscape of India.
@B 26178 BlevsCHTHMSS 60 DDA N6 4TS,

Briefly explain about the atomic energy.

SlamiLdlen s&glullenars LD &mEsons elleuflése,b.
SECTION C — (2 x 20 = 40 marks)
Answer any TWO questions.
All questions carry equal marks.

Give a detailed account on sources of population data.
w&seT Csmens Leraflelleursdharar grrmsamerts LHH alfleurs
&(1H.

Examine the various factors for the development of iron and
steel industry in a particular region. In the light of these factors
comment on the iron and steel industry of the U.S.A.

@ QLS5 @) (HLDL] LOHMILD 6Teo@ CSTIDFTENG EUETTES] DN cUFD S
srggorer UOCan srramilgamer < rmis. @ser Sjiglinaluled
9Cwf&s p&sdwu prisefler @@L WHMID 6T o@ CSTHHFTES6T 6T
urelee adlersdl (hs.

Appraise the importance of major ocean routes of the world.

2 edlem (PG ETEN LD U TG SL_cveuLfl LIT6n &N 6T LD LDHMID

WaHwsgeusHenanyb b {Hs.
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